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WA Solve Compound Inequalities Goal « Solve and graph compound inequalities.
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m Write and graph compound inequalities
Translate the verbal phrase into a COMPOUND INEQUALITY. Then graph the inequality.
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m Translate the verbal phrase into a COMPOUND INEQUALITY. 2) Graph the inequality. 3) Write

the COMPOUND INEQUALITY as a SINGLE INEQUALITY.
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m Solve a [gomgound inequality with “and ”’

Solve 3x — 3 > 15 and 3x — 3 < 24, Graph your solution.

3x — Z> s gj< 24 <& Solvethe compound inequality.
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Graph your solution.
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Solve alsingle inequality with “and”

Solve 15 < -7x +1 <50. Graph your solution.
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Y. Solve a compound inequality with “or”

Solve 5x + 6 < -9 or 2x — 8 > 12. Graph your solution.

5x + < —9 or ; 8>12 Solve the inequality.
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